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My (URCS) DEGREE EXAMINATION, APRIL 2018.
Second/Fourth Semester
Statistics — Allied
STATISTICS — 11

{Ifor those who joined in July 2016 onwards)

Wi Ihree hours Maximum : 75 marks

PART A — (10 x 1 =10 marks)
Answer ALL questions.

Choose the correct answer.
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The ideal index number among all Index numnli
18

(a) Paasche’s index number
(b) Laspeyre’s index number

() Bowley’s index number

(d) Fisher’s index number
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l.arge sample theory is applicable when N is

(n) =>30 (b)
(¢) atleast 100 (d)

<30

none of these
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‘I'ype | errors are made when we reject a null
!'.'l,y"liuf»l:hesis which is

() true

) false

() half true and half false

W rejected
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_ﬁ the case of one-way classification with ‘N

hservations and ‘t’ treatments, the error degrees
— n "v'. R : 0
() Xi\/gto.m I_.Llh.ecdom is
. ) N-1 M) -1
The 99% confidence limits for the population mg¢
are g N-t d Nt-1
(@) t_\f: 561 T 0.01 », SSC womib SSE apanpCur 120, 54 wpmid 45
ipeier  @eul  un@uTliged SSR-er iy
-8 -, |1 '
© X i%;'to.m @ X i\/:to.m ;
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(<=1) ) lio case of two way classification with 120, 54,
(@) Garsl (r) urGeg

wspectively as TSS, SSC, SSE, the SSR is
gave the ¢-test.

(a) Fisher (b) Pearson Lﬂl
(¢) Gosset (d) Paasche

(b) 66
319 (d) None of the above
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11.
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Which chart is designed to control the number
defects per unit?

(a)
©
ai&a eremavudlen sLHLum_(h eTeEnELITETE

(=) (D;R, D,R) (=) (AR, AR)

P -uULLD

C -uLib

X - chart
C -chart

(b)
CY

p-chart
R -chart

@ & B (™) (Bs,, By,)
Control limits for Range chart is i
(@) (D;R, D,R) ®) (A,R, AR)
© (X, R) (d)  (B;,, By,)
PART B — (56 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

(=1) @GP G simsaflar Apidudseans mps. |

Explain the characteristics of Inde

‘numbers.

Or
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(9) Sp&sTamid aﬂmurﬁw;aﬂc&@(r_’r,gﬂ e GwT wHmiIb

urGag @MuSL_ @
eramsatien 28:27 eramm ellgsssmer Xen whiienL
HTCHTS
QumbL_sar Py 49, P, q,
A 1 10 2 5
B 1 5 x 2

Find the value of x in the following data if
the ratio between Laspeyre’s and Paasche’s
index numbers is 28:27.

Commodities Py, 4, p, q,
A 1 10 2 5
B 1 5 x 2

@ e 800 wenm ey e L Ll Sleb
350 sevew Hlan_ss5) crefed BABS BTERTIILD ¢(HLIM
#iniieumng) erer GBI g SEEHFT?

A coin is tossed 800 times and a person gets

3560 hears. Can we say that the coin 1S an
unbiased one?

Or

) Pl cnQan,  apsed WHYID  GTERTL T  euans
1lanip e LD &méswTe efeu.

lixplain briefly the terms standard error,
type I and type II errors.
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14.

15.
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n,=10;n, =14; s, =1.5; 5, =1.2 oraf : () éOO amagairm 10. wrdlflsener G&rr,ssﬂamﬁ]@t:’:}
Q%Lgﬁla{ésaréj?;aﬂcbr swBlenavanis 5% AmLiy sl s Q;Hﬂgﬂwmﬁain@m @apun(p <2/ GV (& ST
DELSHD 15, | 17, 15, 14, 26, 9, 4, 19, 12, 9, 15 gap
Test the equality of standard deviations § B/60 @ Serein et et Gan s S_QUUTR
the year given below at 5% level Gamesmer srers. SLOLUNLE eromman
significance. LHDID  Sisen GHliLs@er auanys, Gibapanp
ne =14 s =15 s, =1.9 SLEUUNQ o drersT @eeaewm TNy Fa).

ny =10;n, =14; 5 =1.5; s, = 1. An inspection of 10 samples of size 400 each
from lots revealed the following number of
defective units :

17, 15, 14, 26, 9, 4, 19, 12, 9, 15. Calculate
control limits for the number of defective
units. lot control limits and the observations
and state whether the pbrocess is under
control or not.

Or

22 -Genganen cuanasEaer s (h&sLTs eleu.

Explain briefly the different types of y2-

@@ oufl urguriiged uCeun euTssms
F.(Hgvsmar BiemL_ub cuflpenpsamer eflers

PART C — (5 x 8 = 40 marks)

Explain the procedure of obtaining vari

sums of squares in one-way classification, ¥ ALL questions, choosing either (a) or ).

MGy Qar@astiue Harer efrukisanans Glamegr @
sulilogit @OSC QL arenents smaums. Guogitb @)
Wit wipyE Gergeen wHmIb  smyef oTHm)
Qangenensaner Blenpay Qe erem s’ ).

Or
Eymm Qers euigeuaniolianus efleu.

Explain randomized block design.

Glmmer A B C D
yearellQued 786 sl @uumiger  Hlenp R cllaney (em.) 5 6 4 3
efleu . RET(H 26rey 50 40 120 30
Explain the advantages of statistical qu )

control. edenev (o) 7 8 5 4

iy (@6Samme) 60 50 110 35
Or
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Construct, with the help of data given below.

; 10 varieties of wheat are grown in three
Fisher's index number and show that § lots each and the following yields in 1000
satisfies both time reversal test and facts P gy

e s el e | kgms/acre are obtained as below. Test the

| Commodity A B C si.gniﬁcance of the difference between variety

 Base year price in Rupees 5 6 4 J yields

' Base year quantity in Quintals 50 40 120 :l_[]‘ 1 2 3 45 6 7 8 9 10 Total
Current year price in Rupees 7 8 5 I

7 714119 6 9 8 12 9
8 9 1310 9 7 13 13 11 11
7 6 16 11 12 5 12 11 11 11
22 22 43 32 30 18 34 32 34 31 298

Current year quantity in Quintals 60 50 110

Or
(=) eomavLSluim LOHmILD
erps@psdlen G D @rem
\:ll CT(LPSIS.
Write down the difference
Laspeyre’s and Paasche’s methods.

Or

™ ) 8 eysears Oarae.  Quav(  sallss
mpsaflen  wHiyser  ECp  sruul(Hérerar.
!-Dudur@ aMsHEEEE QeLCu oder &l ()

F&EMmEG 1000 HCer &ymbd eren claneril egrefsaion c9sHunssems Corseman Q.

| gﬂumﬂyl'—]—@é mﬁg%@@é@g]m—@ 2 49 53 51 52 47 50 52 53
GNCITFFV oL M) LI () s ] S&HGT

‘J. Gsnd. o - g 52 55 52 53 50 54 54 53

|"-i B g::;m/ | e S T LRI 'Wo independent samples of 8 items had the

So‘l‘ow values. Is the difference between the
_means of samples significant?
el 49 53 51 52 47 50 52 53

Wiell 62 55 52 53 50 54 54 53

A

i

|\|. I 7714119 6 9 8129

| II 8 91310 9 7 131311 11

I I 7 6 161112 5 12 11 11 11

"l Qursgib 22 22 43 32 30 18 34 32 34 31 298
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A8 Ci18 B9

C9 Bl18 Ale6

B11 A10 C20

23 27 28 29 30 31 33 35 36
18 23 23 24 25 26 28 29 30

Compute the correlation coefficient for Ll
given data and test for its significance.

23 27 28 29 30 31 33 35 36 q
18 23 23 24 25 26 28 29 30

Analyse the variance in the above Latin
square.

A8 Ci8 B9
C9 Bl18 Als6
B11 Al10 C20

Or
(=) 12 Crrwureflla@Enss @

Qar(HésiiulL_gre SpseeirL o
Sleuiseflen Qrss Siwsssdler C5MAng.
5,28 -1,30, -2, 1,5,0, 4, 6 gd

SO0OEE  Qrss  Sysss@s  Aung
2fefls@d e amm @uigor? (5% i

Or

- Qemeumd efluriisEnsE Ceugun () LEILTLey
Celis

A B C D

08 12 18 13

10 11 12 09

12 09 16 12

08 14 06 16

07 14 08 15

‘-6 By Lauanenr iy 2.201)

A medicine given to 12 patients show
following change in their blood press
5 2,8 -1, 3,0, -2 1, 5, 0, 4, 6. Can i
concluded that the medicine will in gen
increase the blood pressure? (Value of ‘'
5% level is 2.201),
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Make an analysis of variance of t
data :

A B C D

08 12 18 13

10 11 12 09

12 09 16 12

08 14 06 16

07 14 08 15

20. (=) s_@uurl(® u_rhsefler aumasamer 6f
Explain the types of control charts.
Or
(=) R-urgeng UCL, wpmib LCLg 2 ey
Explain R-chart with UCLy, and LC
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